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1. WUERE (Mycoplasma) ZAiERSHNH—EYEREHMMEMSER 7
2. SOS response 2118 ¢ CEMBE G REBENE ?

3. Penicillin fEFFAHIBE FIF—1E pathway 7

4, . f2¥8 Shine-Dalgarno sequence ST ? {HEREE TS ?

5. (TEERZERRER Mycobacteria ?
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@ Class switching
@ anergy
@ MHC restriction
@ Toll like receptor
® Affinity maturation

2. A new viral disease AIV is threatening human. You and your professor work very hard on the research of
immune response in people infected with this virus and for developing vaccine. Afier intensive work, you
were able to culture the virus and to identify the major viral protein ARD as a 36 KD protein. You also
found that the ARD could induce both B and T cell response when immunize mice.

Regarding to the epitopes recognized by B and T cells, which of the following is correct? (3 4 » Hi%)

@ T cell recognize a short peptide within the ARD protein but not the protein surface
@ T cells recognize the soluble native ARD protein
® B cell epitope is usually a linear continuous epitope
@ CD8 T cells recognize the infected cells via antigen presented by MHC class 11
® Both B and T cells can recognize ARD protein, so they recognize the same epitopes
3. Bo4-#: pick up the right answer from the below list (£, # 12 4)
@ TAP @ DM
@ PGYAVEDGGMLL peptide ® hypermutation
® CLIP ®RAG-1

(A} MHC class [ antigen presentation {B) MHC class II antigen presentation

(C) Both MHC ciass I and 11 antigen presentation (D) antigen binding sites in T cell receptor (TCR)
{(E) NK cell receptor

(F) Initiate the cutting of recombination sequence-specific DNA cleavage during 1g gene rearrangement
(G) affinity maturation (H) generation of memory cells

(Iy Class switching
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What type of genome do most DNA viruses contain? What is the exception (give the name of one DNA.
virus)? (2%)

What type of genome do most RNA viruses contain? What is the exception (give the name of one RNA
virus)? (2%)

What are prions? What diseases are caused by prions (give one example)? (3%)

What are the two main mechanisms by which viruses penetrate into cells? (2%)

Where do most DNA viruses replicate? What family of DNA viruses is the exception? (4%)

Where do most RNA viruses replicate? What RNA viruses are the exceptions (give one example)? (4%)
The - ssRNA viruses use different strategy to replicate their genomes than +ssRNA viruses. How do -
ssRNA viruses replicate their genomes? (3%) ‘

Many oncogenic DNA viruses encode proteins that inactivate tumor suppressors such as p53 and RB,
Why do these viruses need to encode proteins that inactivaie p53 and RB? (4%)

(+) sense RNA JF2EFFEE £ 2 polyproteins FRFfLRE RAF LTE
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